
Lesson 7.1
Teaching Guide

1.

(I, Z);The coordinates are
solutions of both equations.

(1, 3); The coordinates are
solutions of both equations.

4. The coordinates of the point of intersection
of the graphs of two linear equations are solutions
to both equations.

Practice Level A
1.yes 2.no 3.yes 4.no 5.no 6.yes
7.8 8.A 9.C 10.F 11.8 12.D

13. (2, -l) 14. (3,4) 15. (-1, -1)
16. (4,2) 17. (2, -3)

18. (-3,0) 19. (3,3)

,

(0, 0); The coordinates are
solutions of both equations.
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Answers
20' (-1,4) 27. (3, -2)

22. between 1995 and 1996; about I 175 thousand
people
23.

8 bottles of apple juice andT bottles of orange
Julce
Practice Level B

1. no 2. yes 3. yes

7. (3, -5) 8. (-1, 4)
1 1. (-5, 3) 12. (0,4)
13. (1,3)

15. (2, -5) 16. (-3,0)

17. (-5,3\ 1A. e2, -4)
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2 4 6 A 1O121416x
Bottl6 of apple iuie

4.no S.no 6.yes
9. (-2,2) 10. (4, -2)

14. (-4,4)
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Lesson 7.7, continued
19. (-3,6) 2c'. (4, -5)

21,(2,7\

8 blooming annuals and 16 non-blooming annuals
23. a; x + Y : 27 and0.25x * Y : 12

b.
32
2A

4 8 121620242832x
Outs mado by lntlold.rs

c. infielders: 20 outs; outfielders: 7 outs

Practice Level C
1. no 2. yes 3. no 4. yes 5. no 6. yes
7. (6, I) 8. (-8,4)

Algebra I
Chapter 7 Resource Book
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Bloomlng annuals

-l 3/, 5 7x -t2 4l

1O. (-3,5)9. (5, -5)
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Answers will vary.16.
17.

11. (2,2) 12. (-I,7)

13. (5,6) 14. (-9,2)

15. (4,4)

18.
19.

5.5o/o: $20,00Q; 6.5%: $25,000
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